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MATHEMATICS
T

(Hindi and English Version)
Time: 03 Hoﬁrs] [Maximum Marks: 100
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Instructions:
()  All questions are compuisory.
()  Question Nos. 6 to 26 have internal option.

(i)  Draw neat and ciean labelled diagrams wherever required.
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91 68 e gaax fofag— (1x5=5)
@ U ug A IgUL DY FEI el & —

EYVARC b) fa=ug

© P @ Ra® agIR
(i) w&m 7% @ —

(@) oufRAa He b) ufR¥y wEm

(c) vrpa weA @) fww =T
(i) Y— 38T & THHIr § -

(@) x=a ) y=b

& y=o0 @ x=o0
v) 7o g @ fdwie 8 & -

@ (1.1 ) (.1

@ ©0 @ .0
V) U Br @ S @ @ A ear 81—

(a) 130° & 180°

) 270° | @ 360°

Choose and write the correct alternative —
(i) A polynomial of One term is called -
(a) Monomial (b) Binomial
= (¢)  Trinomial (d) Linear Polynomial

() Number V7isa-

(a) [lrrational Number (b) Rational Number
(c)  Natural Number (d) Odd Number
(i) The Equation of y axis is —
(8 x=a (o) y=b
(cp y=o (d x=o0
(iv) The coordinates of the Origin are —
(@ (1) () (0,1)
(c) (0,0 @ (1.0
{v)  The sum of the three angles of a triangle is -
(a) 130° (b) 180°
(c)y 270° (d 360°

[18-906-C] [63] Page 2 of 12



w2 we /e i (1x5=5)
() uAS gl @ e quie BN 8
(i) U © gl 98U Pl Wad qgue PHer o 2
(i) &Y AR ATt U W FHBHROT FT MG Th WA @7 Bl & |
(v) TS G Y@ I AR AffEd wU W 9o o aadl 2
(v) gof 9H W § BT BT § |

Write True or False

(i) Every rational number is an integer.

(i) A polynomial of degree one is called a linear polynomial.

(i)  The graph of every linear equation in two variables is a straight fine.
(iv)  Aterminated line can be drawn indefinitely on both the sides.

(v)  Whole is less than its part.

Y3 P ¥ /9] ¥ I fofag— | (1X5=s)
() UAE ARAT HEgr Ue aafad e g ¥
(i) g8UE 5x°+ 4x* + 7x B bIT ferfay |
iy SIS @ B x — eT IR FealR W@ DY y — A8 FET AT
(iv) dBUG 2+ xP¢x Hx? BT Ui forfeay |
(v) IHIHROT ax + by + ¢ = 0 BT 3Tl HET BIT?

Write answer in one word / once sentence

(i) Every irrational number is a real number.

(i)  Write degree of Polynomial 5x° + 4x* + 7x.

(i)  The horizontal I.ine isI called the x — axis and the vertical line is called the y — axis.
(iv)  Write the coefficients of x* in 2 + x° + x.

(v)  What will be graph of the equation ax + by + ¢ = 0?
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n4 W Ry ger Rea wm @ gfd aifde - - (1x5=5)

U5

(i)
(i)
(ii)

(iv)

v

Y TG BNIST BT TRAD BT o &1 g &1 (80 /90°)
»
o e G T 1 ) B 81 (720° /360€)

b
1 G A Q1 1L P 21 (2(a+b+c) / a+2+

Fill in the blank’s writes correct option’s:

()] Each angle of an equilateral tangle is ..........ccccorvvvrvimeierinenerensrsnsnnnsessssssesnes (60° 1 90°)
(i)  Sum of the angles of a quadrilateral is ................covvvicriimiamn .. (720° / 360°)
(i) Two circles of the same radii are ............ccoceeviriiiiainnnnns Feresersanseriren (Simillar / Congruent)
b+c
(V) Semipenmeter of the HANGIE IS «................rvwrersersomsssesieessene (2(a+brc) / 222
1
(V)  VOIIMB Of CONB IS ....couvviiiiiiiiiieiiiiie i (anrzh / nr2h)
& WS %Y — (1x5=8)
(s%) @

() EET @ AEA (a) Ry (Famam)
(i) AT BT ATh b) gD
(i) TS & 3w B gAghy (€) Ixbxh
(iv) HeAT @ "es 3 i @ 1y
(v) AR aRARAT 9Tl 9g () ©

® oA
Match the column

(A) (B)

(i) Volume of a Cuboid (a) frequency
(i)  Sum of Probability (b) Mode
(i)  The frequency of same digit {c) Ixbxh
(iv) The Probability of an event lies (dy 1
(v)  The most frequency term (e) ©

() Oto
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U6

07

us8

%EEFIWWWW @)

10
Find the decimal expansions of ?

391 / OR

1
[ DT — 642

.
Simplify — 642

frfaRaa @1 o fafag - @)
@) Ty @ @

Write the definitions of the following:

(a) Abscissa (b) Ordinate

3@t / OR

gt o1 wweed, o afEa |
Explain quadrants with figures.

A ABC ¥, E ufta@T AD @1 we famg 2| (2)

Q9IE0 f& ar (BED) = :- ar (ABC) & |

In a triangle ABC, E is the mid point of median AD.

Show that ar (BED) = —ar (ABC).

1

4
A¥ar / OR

qeifsy & et @ ve aftaer 9A SR1E9 §G! arer a1 Bryett A fafre e 2

Show that a median of a triangle divides it into two triangles of equal areas.

[18-906-C] [63] Page 5 of 12



ti9 T @ gl v &1 ab gh dawe T AR Rraad fde FaE 10om ¥ AR
IR &) =g 7 em ¥ @

Find the curved surface area of a right circular cone whosae slant height is 10 cm and base radius is

7cm.
Y41 / OR
7em Progr ardl g@ M &1 gy %A w SR
Find the surface area of a Sphere of radius 7cm.
™ U deT B o fenfRiat & (@ Wext #) o=l A & @)
155 160 145 149 150 147 152 144 148 §1 ;DS BT AP TG B |

The height (in cm) of 9 students of a class are as follows:

155 160 145 149 150 147 152 144 148 find the median of this data.
31efar / OR
Bl 14, 25, 14, 28. 18, 17, 18, 14, 23, 22, 14, 18 Pl dgaid T DAY |

Find the mode of 14, 25, 14, 28, 18, 17, 18, 14, 23, 22, 14, 18.

Y1 @ & BT uRYTER BT | (3)
2+3

Rationalise the denominator of )
24 JE
31T / OR

@ & &1 ufgar #if |
7+3V2

Rationalise the denominator of - R -
7 +342

Y12 K I H S BT 0bfd x = 2,y =t TR0 2x + 3y = K &1 UH & & | )

Find the value of K, if x =2, y = 1 is a solution of the equation 2x + 3y = K.
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Jar / OR

RO x+ 2y =6 B AR amtr—alm &1 T BifoTY |
. Find four different solutions of the equation x + 2y = 6.
w13 Fafateg & oRemn &R : (3)
(@) wfreedt Yar
(@) swfread @

Write the definitions of the following:
(a) Intersecting Lines

(b)  Non - intersecting Lines
| 3ar / OR
frmfafaa @ ufwmn faReT:
@) B B
@ WRS P
Write the definitions of the following:

(a) Complementary angles

(b) Supplementary angles.
UA4 TP OPHS @ @10l 35913 @ I § § | TH TGS B ) D07 I P | (3)
The angles of a quadrilateral are in the ratio 3:5:9:13. Find all the angles of the quadrilateral.

vqar / OR

Tuigq % Ua gq &1 YRS PO TH GHDIT Bral 2 |
Show that each angle of a rectangle is right angle.

.15 <1 T | BB 105 X 106 B AT T BN | (@)
Evaluate 105 x 106 without multiplying directly.

-'i\h
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Y.16

31erdar / OR
(4a ~ 2b - 3¢c)* BT TR DT

Expaﬁu (4a - 2b-3c)%.
wrdta a0 # fgalf 5.0), 05). (25). (62). (35), (-3, —5), (5-3) 3R (6.1) BT @

- fRurivor Afrg | (a)

Locate the points (5, 0), (0, 5), (2, 5), (5, 2), (-3, 5), (-3, -5), (5, —3)and (6, 1) in the Cartesian

plana.

3Rl / OR

Freferas e il @1 el qe & Regall B w4 STARE T | et T e

1 W& AR 2 1 vew AR

"7

X|-83] 0 [-1]4]2

y|7(-35|-3{4]-8

Plot the following ordered pairs (X, y) of numbers as points in the Cariesian plane use the scale

1 cm = 1 Unit on the axis.

X|1-3|] 0 |-1]4]| 2

yl 7 -835|-3/4]|-3

AABC ¥, £A®T WHIZWIWH AD 3ol BC WRerd 8 (Qfaw angfy 1) quisy f AB = Ac ? aiR

A.

AABC GHfgeTg 2| (@)
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In AABC, the bisector AD of £ A is perpendicular to side BG (see fig - 1). Show that AB = AC and A

ABC is isosceles. A

11
B D S &
(fig-1)

#ear / OR
wanTaHar @) 9, R wfta fafag,

Write the definition of congruency with figures.

.18 Wgﬁ$aﬁﬁwﬁﬂmaﬂmﬂﬁﬁﬂﬂ#$ﬁm@%ﬁﬂéwmwmm

2| frg AR, | : @
Prove that. The line drﬂﬁfn through the centre of a circle to blsedt a chord is perpendicular to the
Chord. | o

Jar / OR

IR B AR AT B W AR BT AR w81 R g |
Prove that Equal chords of a circle subtend equal angles at the centre
W19 UP GHa1g PR o o ST, o9 gHeT g &1 8 qen BRer |ied vEer S | (@)

Construct an equilateral triangle, given its side and justify the construction.

JUdT / OR
o= o Y T BTG SR 61} g WueR gfe i
(1) {5" @) 10s°

Construct the following angles and verify by measuring them by a protractor.

(@ 75° (b) 105°
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W20 UF Br{a &1 &awe sa dfoe Rraa &1 o sem 3R 11em € R forwer aRkemg

w21

.22

32em & ey smHRY — 2) % @)

A B

Find the area of triangle, two sides of which are 8 cm and 11 cm and the perimeter in 32 cm

(see fig — 2)
C
11e acm
o A B
A1 / OR
T PreeR qE@s (plot) B oMl HT AIUR 357 & AR THH URAT 300m | T
YEE & SAGE S Do |

The sides of a triangular plot are in the ratio of 3:5:7 and its perimeter in 300m. Find its area.
UF vig B pd O GA%A s A, Rl fde e 21m 8 SR mR @
o9 24mel (@)
Find the total surface area of a cone, if its slant height is 21m and diameter of its base is 24m.

3erEr / OR

W9 M B B s ARG Rt g dawd 154om” 2 |

Find the radius of a sphere whose surface area is 154 cm®.

p(x) =x* + 1 BT x + 1 W HIT T UX W] A9H g1 BT | (5)

Find the remainder obtained on dividing p(x) = x* + 1 by x + 1.
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W23

924

H.25

34T / OR

3x*-4x® - 3x -1 Bl x—1 | W7 DAY
Divide the polynomial 3x*~ 4x* - 3x — 1 by x - 1.
X +y = 7 BT 3fTelg WY | ()
Draw the graphof - x+y=7.
3Yqr / OR
% R qiel FHE B EY H 2x + 9 = 0 BT SAHAIT Fwaer AfAg |
Give the geometric representations of 2x + 9 = 0 as an equation in one variable.
Ud BAMSHR Y1 B €D 6m M), 5m AR 3R 4.5m TED B | g fam ofiex e s
|&ar 87 (1m® =10004)
A cubical water tank is 6m long 5m wide and 4.5m deep. How many litres of water can' it hol}!?
(1m® = 10606).

3711 / OR
fouT 210m R @ aekiver B forg, s BRI
) o g dwe
i) T T fAw
Find :

(i)  The curved surface area and
(i} the total surface area of a hemisphere of radius 21 cm.

42 @ Rl ¥ 400 A9 St @ ofraw @@ Re o &

[ $aw1 @rer (BT /) | o @1 W
300 — 400 14

400 — 500 56

500 — 600 60

600 — 700 _ 86

700 — 800 74

800 — 900 62

900 — 1000 48

() u® ImEa @ e ¥ D g gl @ el Sif |
(i) b <l @ Sfyge drer 700 e G orftrd #
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The following table gives the life times of 400 Neon lamps:

* Life time (in hours) | Number of lamps
300 - 400 14
400 - 500 .56
500 -600 &0
600 — 700 86
700 — 800 74
800 — 500 - | . 62
900 ~ 1000 48

{i)  Represent the given information with the help of a histogram,
(i)  How many lamps have a life time of more than 700 hours?

YT / OR
Wtﬁﬂ'ﬁq@ﬁmﬁ%mﬁﬁﬁﬁﬁmﬁﬂﬁmzs,d,wgﬁ
el & Ay 3R qgad ST PR |

The following number of goals were scored by a team in a series of 10 maich 2, 3, 4, 5, 0, 1, 3, 3, 4,

3 find the meéan and mode of these scores.

e R BT 1000 IR IBTAY W AR TRARATS W B 2 ®
it © 455 W : 545

TP T B TR AT BRI |

A coin is tossed 1000 times with the following frequency
Head : 455 Tail : 545
Compute the probability for each event.

31| / OR
P fhde ¥ H 0@ AR dool 9191 Well T8 30 N]T A 6 R diET ARG 21 WHT A
IR W B Wil ST B |

In a cricket match a bats woman hits a boundary 6 times out of 30 balls she plays.

Find the probability that she did not hit a boundary.
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